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(_ast leclare we Jiscussed cCompos/Te Systoms
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Tathis lecture we wi'l| diScuss measure menf more
merully, onrd SAows +het SqchA & mea:d"ﬁneﬂ‘f con be
dps'cnbn/ 6}. [ocal or Par‘h’a( measurements
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The faus of Quantum mechan/cs StaTe That Hhis
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Lets \/PV"Fy Thet measuiing +the Second @ 0b/+F
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Tntuition (5 The pooab’lity +hat we measare state (i
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onto i) €o That qubit
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Write [§)= 2 o (ed(.) where eqch (¢ Is o un/'t vector,
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Back teo and Bob, we had intja Stote
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Well, each with prtablity 2 we geT:
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LFf you FAhk [ an artificial (onSeguenCe of our
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T there /s no Commupicetion between anh /3057
regasd|ess of who Joos +he measdremsert (irsf Cack
9et O or | wrth egual prooobilify, Theugh thei
reSu lts are alway$ the Same. This /s perhps not
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When we Sf«dy mi xed states we'll See Yhel”
+hese States q((‘aa(/y havethe Same /Pp/@fﬂ“fi‘fiow.
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